
Calculus  Review of Exponential/Logarithmic Functions    Name _____________________________               
 
I. Exponential Function    f(x) = bx ; x∈R, b∈R+ , y ∈R+  
 

1) Sketch:  (a) y = ex       (b) y = 
1
2

⎛
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⎞
⎠⎟

x

 

 
 
 
 
 
 
 
 
 
 
 
 
 
2) Evaluate using a calculator: 
 
   (a) 2 3  = ________   (b) e 6  = ________   (c) 5 23−  = ________ 
 
 
3) Without using your calculator, simplify completely: 
 

   (a) ( )4 3 2
 = __________     (b) 8 46 54  = __________ 

 
 
 
 
 
 
 
4) Without using your calculator, solve for “n” in the following exponential equations. 
 
   (a) 3 35 2 1= −n    (b) 9 273 2n n= −    (c) 36 6

2 3n n= −  
 
 
 
 
 
 
 
 
 
 
 
 



II. Logarithmic Functions:     logB
CA C B A= ⇔ =  

 
Natural logs:    lnA C e AC= ⇔ =                    Common logs:      logA C AC= ⇔ =10  
 
5) Sketch:      (a)  y = log5 x    (b)  y = ln x   (c)  y = log 1

2

x  

 
 
 
 
 
 
 
 
 
 
 
 
6) Without using your calculator, solve the following log equations for x: 
 

   (a)  x = log2 64    (b)  log1
3

27  = x   (c)  log7

1
49

 = x 

 
 
 
 

   (d)  log2 2  = x   (e)  log2 x  = 5    (f)  logx

1
25

 = -2 

 
 
 
 
 

   (g)  log9 x  = -1   (h)  logx 7
1
3

3 =    (i)  log4 4  = x 

 
 
 
 
 
   (j)  log 1000 = x   (k)  log 0.01 = x   (l)  ln x = 0 
 
 
 
 
 
   (m)  ln e  = x   (n)  ln x = 4    (o)  ln e5  = x 
 
 
 



III. Log Properties:  
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7) Using log properties, write each expression as a single log. 
 
   (a)  log 15 – log 3 = ____________    (b)  log 4 + log 2 = ____________ 
 
 
   (c)  3 log 2 – log 4 = ____________   (d)  2 log 6 – 2 log 3 = ____________ 
 
 
8) Using log properties, express each log in terms of A and B given:  A = log 7, B = log 3. 
 

   (a)  log 21 = ____________  (b)  log
7
3

⎛
⎝⎜

⎞
⎠⎟  = ____________  (c)  log 27 = ____________ 

 
 
 

   (d)  log 49 = ____________ (e)  log
1
3

⎛
⎝⎜
⎞
⎠⎟  = ____________  (f)  log

7
9

⎛
⎝⎜

⎞
⎠⎟  = ____________ 

 
 
 
9)  Solve each log equation using log properties: 
 
   (a)  log ( ) log ( )3 32 1 3 6x x+ = −     (b)  log log log3 3 356 8− = x  
 
 
 
 
 
   (c)  log ( ) log ( )3 34 2 3x x+ + − =     (d)  ln 2 + ln 7 = ln x 
 
 
 
 
   (e)  log ( ) log log8 8 81 4m m+ − =     (f)  2 3 3 27 7 7log log log+ = x  
 
 
 
 
 
 



10)  Use your calculator to find an approximate value of x: 
 
    (a)  log5 4 = x    (b)  log3 5 = x     (c)  7 20x =  
 
 
 
 
    (d)  3 52x+ =    (e)  x = 1000 e( )(. )5 06    (f)  800 = 400 e x.0875  
 
 
 
 
11)  Solve:  4 32 5x x− =  using your graphing calculator and tracing.     x = _______________ 
 
 
 
IV.  Property:        B NB Nlog =  
 
12) Evaluate without using your calculator: 
 
    (a)  eln5  = __________     (b)  e2 5ln  = __________  
 
 
 
 
 
 
 
   (c)  4 4 42 3log log+  = __________    (d)  10 20 2log log−  = __________   
 
 
 
 
 
 
 
 
 
      


